THE FOWES TF TEOM MEMEC

PARTS LIST

G4s Spare Parts ltemNo.  |tem Description
[tem No. Item Descripﬂon 502101 G4 2 Speed Shoe Cam & Posis
111003 3mm Alum. F.H. Washer (6) 502102 G4 2 Speed Shoe (2)
111007F  3mm Flat Locknut (10) 502103 G4 2 Speed Shoe Spring & Screw (2)
| 111007ST  3mm Steel Locknut (10) 502108 G4 2 Speed 1st Spur Gear 51T
111041 3mm Alum. Cap Washer (6) 502111 G4 One Way Hub & Nut (w/bearing)
111046 4mm Alum. Flanged Lock Nut (Thin) (4) 502115 | G4 Diff Case (2), Diff Case Cover (1) & Gasket (2)
111050 Pipe Holder (3mn;|) 502116 G4 Diff Joint, P5 O-ring, 5x12mm Shim & 2x11mm Pin (2)
111118 R5 R-clip (10} 502117 G4 4x10mm Shim, Bevel Shaft & Bevel Gear Set (1 set)
111120 R6 R-clip (10) 502118 G4 Diff Case Gasket (4)
111122 10.1x13x0.3mm Washer (2) 502122 G4 Nylon Rear Pulley Set {w/screw)
111145 Small Functional Alum. Antenna Rod Mount (w/antenna rod) 502123 #10000 Silicone Oil
111146 TM Dual Alum. Stopper (6) 502125  #600 Silicone Oil
114043  6v-800mah Ni-MH Lightweight Special Size Pack 502127 G4 Shock Cap Set (2)
114044  Special Receiver Battery Pack Wire Set (w/mount) 502128 G4 Hard Coated Threaded Shock Body Set (2)
115002 4mm Ball Stud & Ball Cup (for 3mm rod)(6) 502129 G4 P3 O-ring (4), Washer (4) & G-clip (4)
115016  Antenna Rod (2) 502130 G4 Shock Shaft & Piston Set (2)
115021  4.8mm Ball Stud & Ball Cup (for 4mm rod) (6) 502131 G4 Membrane (4)
115022 4mm Ball Stud & Shock Ball Cup (6) 502134 G4 Shock Spring Cup (4)
115023 Throttle Ball Cup (4) 502144 G4 Stock Shock Spring (2)
115024 4mm Short Thread Ball Stud & Ball Cup (for 3mm rod) (5) 502150 G4 Steering Block (L & R)
115025  4mm Short Neck Ball Stud & Ball Cup (for 3mm rod) (4) 502151 G4 9mm Low Friction Pivot Ball (2)
116042 Allen Wrench Set (1.5, 2.0, 2.5 & 5mm) 502153 G4 Wheel Axle (2)
116043 Cross Wrench (4, 5, 5.5 & 7mm) 502155 G4 Rear Hub Carrier L & R)
114132 3x20mm Adjustable Rod (2) 502160 G4 Front Lower Am & Up/Down Stop Mount
116135 3x50mm Adjustable Rod (2) 502161 G4 FrontUpperAm
116201 2¢x11mm Pin (10) 502143 G4 Front Bulkhead
116202 E-clip 2.5 (10) 502144 G4 Front Diff Mount
116203 E-clip 5 (10) 502173 G4 5th Body Post Set
116207  Throttle/Brake Linkage Spring (4) 502174 G4 Fuel Tank Supporter & Handle
116208 Throttle/Brake Linkage Rod (4) 502174 G4 Drive Shaft (2)
116214 3x6.5x1mm Alum. Washer (6) 502179 G4 Caster Clip Set
116217 O-ring P3 (10} 502180 ' G4 Front Lower Arm Stiffener Brace
117001 Alum. Stopper (4) 502183 G4 Front Body Post (2)
119001 Silicone Fuel Tube (60cm) 502184 Eduﬁrﬁ_l'_uwer Bumper
1263035 3x3mm Set Screw () ;G4 Front Upper Bumper
1263055 3x5mm Set Screw (6) 502186 G4 Bumper Foam Post Set (2)
124304C 3x6mm Cap Screw (6) 502188 G4 Foam Bumper
126308 3x8mm Steel F.H. Screw (6) ' 502191 G4 Rear Body Post Set (2)
126308BU  3x8mm Steel Button Head Screw (6) 502192 G4 4x18mm Alum. Adjustable Rod (2)
| 126308C 3x8mm Steel Cap Screw (6) 502193 G4 Rear Uppper Link Nylon Parts [2)
126310 3x10mm Steel F.H. Screw (6) 5021946 G4 Rear Bulkhead, Brake Bracket & Back Bracket
124310BU  3x10mm Button Head Screw (6) 502197 . G4 Brake Cam & Lever Set
126312 | 3x12mm Steel F.H. Screw (6) 502198 G4 Brake Plate & Brake Pad
| 126312BU  3x12mm Bution Head Screw (6) 502200 G4 Lightweight 2 Speed Shaft
| 126312C  3x12mm Cap Screw (6) 502201 G4 Brake Disc Set
126314BU  3x14mm Button Head Screw (6) 502207 G4 18T, 19T & 27T Pulley
126320C 3x20mm Cap Screw (6) 502208 G4 Rear Lower Arm Set
1264045  4xdmm Set Screw (6) 502211 G4 Belt Tensioner
1264085 4x8mm Set Screw {6] 502217 G4 Throttle Linkage Set
150407 4x7x2.5mm Bearing (2) 502221 G4 Servo Arm (Futaba) (2)
150508F  5x8mm Flanged Bearing (2) 502222 G4 Serva Spacer (4)
1505100  5x10x4mm Dust-Resistant Bearing (4) Orange 502223 G4 Servo Arm (Ko, Sanwa & JR) (2)
150510F  5x10mm Flanged Bearing (2) | 502246 G4 Middel Belt Mount
1506120 Bx12x4mm Bearing (4) Orange 502247 G4 Fuel Tank
1510150  10x15x4mm Bearing (4) Orange | | 502250 G4 S-Class 2 Speed Housing & Nut (w/bearing)
1512180 12x18xdmm Bearing (4) Orange | | 502252 G4 SClass 2 Speed 2nd Spur Gear 46T




:

ltem No. Item Description Tool { Optional Parts )
| 502259 G4 New Widened 19T Brake Pulley ltemNo.  Item Description
502242 (G4 Servo Mount Set (S/Le Mans) 110001 H—Hippa 2 Starter Box (On-Road, Pre-assembled)
502263 G4 Radio Plate Suppor & Receiver Battery Mnunt_jsile Mans) 111015 ' Alpha Starter Box
502265 G4 Alum. Side Plate (pair) (S/Le Mans) 114012 | DC 12v Glow Starter Charger
502266 (G4S 3mm Alum. 7075 Chassis 114014 " Alum. Metered Glow Starter
502267 G4S Single Bell Crank Steering System 114028 | TM 1600mah AA Lightweight Glow Starter & Charger
502268 G4 Thick Servo Arm (Futaba) (2) 116006 | Curved Model Scissors
502249 G4 Thick Servo Arm (Ko, Sanwa & JR) (2) 115025 ' Cross Wrench (7, 8, 10, 12 & 17mm)
502270 G4S Receiver Mount 116047 | TM Smart 300cc Super Soft Fuel Boltle
502271 G4 Mew Nylon Front Upper Stiffener Bracket 114051 ' TM 1/10 Setup Board (420x360mm)
K1003 Special 3mm Engine Mount Screw (5) 116055 | Push Type Cluich Piion Gear & 2 Speed Nut Removal Toolfor chich housing with 3 hoes)
K1005 Special 3mm Servo Holding Screw (5) 117002-1M | TM Black HC Hex Wrench Metric Size 1.5mm
K1404 G4 Alum. Front Anti-Roll Bar Mounts (w/anti-roll bar) 117002-2M TM Black HC Hex Wrench Metric Size 2.0mm
K1414 G4 Hard Coated Alum. Light 24T Clutch Gear 117002-3M | TM Black HC Hex Wrench Metric Size 2.5mm
K1418 G4/FWO0S/VIRR Alum. Clamp Type Hex Wheel Hub (4) 117006 | TM Black HC Pivot Ball Nut Hex Wrench 5mm
K1420 G4 Hard Coated Alum. Mi_dule'ﬁhgll_ ' 117009 | TM Black HC Metric Ball Stud Nut Driver Smm
K1440 (G4 4mm Front Carbon Shock Tower 117010 TM Black HC Nut Driver 5.5mm (for 3mm nut)
K144% (54 Alum. Pivot Ball Nut & Teflon Washer{8) 117011 TM Black HC Nut Driver Ymm (for 4mm nut)
K1443 G4 Super Hardened Hinge Pin (Front Upper) (2) 117012 | TM Black HC Nut Driver 8mm (for glow plug & Smm nut)
K1464 G4 Super Hardened Hinge Pin (Front Lower) (2) 117013 | TMBlack HC Push Type Clutch Nut Driver 10mm
K1445 G4 Super Hardened Hinge Pin (Rear Upper) (2) 117023 TM Black HC Carb Tuning Slotted Screw Driver (4mm)
K1444 G4 Super Hardened Hinge Pin (Rear Lower) (2) 117024 | TM Black HC Philips Screw Driver (4mm)
K1488 G4 ST Steel Universal Joint (2) (for VIRRR front as well) 117028 | TM Black HC Manifold Spring Tool
K1490 G4 Hard Coated 7075 Alum. Light 19T Clutch Gear 117030 | TM Black HC Body Reamer (0-18mm|
K1492 G4 S-class Speed Gear Sel 119206 TM Transmitter Bag (Black)
K1493 G4 & V1 New Compelition Low Friction Front Belt 119207 TM Starter Box Bag - Small (Black)
K14%4 G4 & V1 New Competition Low Friction Side Belt 119212 ' TM Touring Car Bag (Black)
K1495 (G4 & V1 New Competition Low Friction Rear Belt 119213 TM Starter Box Bag - Large (Black)
Ii:l-;ﬁﬁ. G4 Alum. One Pi.e:e-Engine Mount 119220 ' TM New Formula & (F&) Car Bag (for 1/8 cars)
K1497 UFO Push Type Clutch Set (for G4) 119225 | TM New Formula 10 (F10) Car Bag (for 1/10 cars)
K14104-1 G4 Carbon Transponder Holder (for K14104)
K14108 | G4 Alum. One Piece 32T Front One Way / Solid Axle Set Apparel ( Optional Parts )
K14109 G4 Rear 4mm Carbon Shock Tower (w/alum, stiffener) Item No.  Item Description
K14110 (34 Rear Dual Adjustable Anti Roll Bar Mount (w/bar) 119215 | TM Summer Cap
119221 TM Banner (200x70cm, strong nylon material)
Optional Parts 119222 | TMRacing Cap (Black)
llem No.  Item Description 119223 | TM Racing T Shirt (Orange)
1014639 . Nova Rossi Air Filter (Round, Large Hole) 119224 TM Racing T Shirt (Black)
111051 Round Type Fuel Filter (Small)
116204 | 7x13x0.1mm (3), Tx13x0.3mm (2) & 7x13x0.5mm Shim (1)
116205 | Double Side Tape (3) ' ' B
114209 | 3x4.8x0.1mm (5) & 3x4.8x0.3mm Shim (5)
150510 | 5x10x4mm Dust-Resistant Bearing (4)
502107 | G4 2 Speed 1st Spur Gear 50T
502109 | G4 2 Speed st Spur Gear 52T
502124 #30000 Silicone Oil
502135  Shock Spring 1.2mm (2)
502136 Shock Spring 1.3mm (2)
502137 | Shock Spring 1.4mm (2)
502138 Shock Spring 1.5mm (2)
502139 Shock Epring 1.6mm (2]
502140 Shock Spring 1.7mm (2)
502141 | Shock Spring 1.8mm (2)
502142 | Shock Spring 1.9mm (2)
502143 | Shock Spring Set (8 pairs)
502251 | G4 S-Class 2 Speed 2nd Spur Gear 45
502253 G4 S-Class 2 Speed 2nd Spur Gear 47T

49





